
1

1

2

3

3

3

4

4 5

5

3

6

7
4

4

2
top cover

individual parts:
screws M4 * 6mm
sleeve nuts M4 * 7mm

6) screws M2,5 * 10mm
7) nuts M2,5 

back panel

transparent:

reflective:

 side
panel

side 
panel

front panel
( same as 
back panel )

Begin assembly of the case by putting the front panel on a flat surface (i.e. table). 
Connect the side panels and the top cover to the front panel. Use the screws and nuts to bolt together 
the side panels and the cover of the acrylic case (compare the illustration below). 
Repeat this procedure for the back panel and the front panel. 
Important: Please tighten the screws only lightly.

Acrylic case 
made to measuresorashowcases.com

Phone
(0049) 36921 91434

E-Mail: 
info@sorashowcases.com

case - a

case - bcase - d case - d

round off base

( if ordered )

case - e

square-cut base 
( if ordered )

case - f

case - s

 case - b

to bolt together the two
   base parts “e” & “f”

black: case - u


